

11+ Maths

Multiple-choice Test Papers Pack 2 **Notes and Answers**

This booklet contains:

- advice on how to administer the tests
- answers
- tutors' explanations for every answer
- Inks to How To Do 11+ Maths

OXFORD UNIVERSITY PRESS

Great Clarendon Street, Oxford, OX2 6DP, United Kingdom

Oxford University Press is a department of the University of Oxford. It furthers the University's objective of excellence in research, scholarship, and education by publishing worldwide. Oxford is a registered trade mark of Oxford University Press in the UK and in certain other countries

Text © Sarah Lindsay 2015 Illustrations © Oxford University Press 2015

The moral rights of the authors have been asserted

First published in 2015

All rights reserved. No part of this publication may be reproduced, stored in a retrieval system, or transmitted, in any form or by any means, without the prior permission in writing of Oxford University Press, or as expressly permitted by law, by licence or under terms agreed with the appropriate reprographics rights organization. Enquiries concerning reproduction outside the scope of the above should be sent to the Rights Department, Oxford University Press, at the address above.

You must not circulate this work in any other form and you must impose this same condition on any acquirer

British Library Cataloguing in Publication Data Data available

978-0-19-274086-1

10987

Paper used in the production of this book is a natural. recyclable product made from wood grown in sustainable forests. The manufacturing process conforms to the environmental regulations of the country of origin. Printed in India

Acknowledgements

The publishers would like to thank the following for permissions to use copyright material:

Cover illustrations: Lo Cole

Although we have made every effort to trace and contact all copyright holders before publication this has not been possible in all cases. If notified, the publisher will rectify any errors or omissions at the earliest opportunity.

Links to third party websites are provided by Oxford in good faith and for information only. Oxford disclaims any responsibility for the materials contained in any third party website referenced in this work

How to administer the tests

What do you need?

- A quiet, well-lit place to sit the test.
- A stock of pencils. HB pencils are best for multiple-choice papers.
- A pencil sharpener and an eraser.
- Blank paper for rough working.
- A clock or timer.
- Calculators are not allowed.

Before you start

Try to provide a calm yet formal atmosphere in which your child can take the test. It is important that you recreate the real test as closely as possible, so try to ensure your child has an appropriate work space and no distractions. Choose a time to do a test when your child is rested and relaxed.

Multiple-choice tests ask children to mark their answers in a separate answer booklet. Therefore, when reading the front page of the test paper with your child, point out the importance of answering carefully and rubbing out any altered answers clearly. (Read the section below for details of common pitfalls that can occur when using multiple-choice answer booklets.) Ensure that enough rough paper is available for working out answers; they should not use the empty space on the paper for workings.

Allow 50 minutes per test. On average, they will have one minute to answer each question, so encourage them to move on from questions they are stuck on before too much time is wasted. Your child may find it helpful to put a cross in pencil by questions that have been missed out so that they can be quickly spotted later on. Remind them that they can always go back at the end if they have time left. Finish reading the instructions together before you 'start the clock'.

When the time is up they should stop writing. If they have not finished, draw a line at the point they have reached. You can always allow them to continue after the time to get more practice, or else leave the remaining questions for another time. Encourage them to think about whether they should try to speed up, or to work more carefully, depending on how they finish the paper.

Using the multiple-choice answer booklet

If your child is sitting a multiple-choice exam it is crucial that they understand how to use the answer booklet properly. Spend time examining the booklet together. As you look through it explain that multiple-choice answer sheets are usually scored by computer rather than by hand, (an optical reader scans the marks on each page). As a result, an answer will be classed as wrong if it is not clearly and accurately marked.

There are some common mistakes that are easy to make when using a multiple-choice answer booklet. Talk through the following points carefully with your child, without panicking them, but so that they child, without by what they should / should not do understand exactly what they should / should not do

- Marking outside the box. To record an answer a clear line should be made through the centre of the relevant answer box. The line should stay of the relevant description of the box so that it can be read accurately by the computer.
- Crossing out an answer. If your child wants to change their mind they must never cross out an answer in a multiple-choice booklet. It must be fully rubbed out and then the new answer should be clearly marked in the appropriate box. If any mark is left in the first box, the computer could read two answers for that question and mark their response as incorrect.
- Marking an answer in the wrong grid. Answer grids often look the same on multiple-choice answer sheets so it is easy to mark an answer in the wrong grid, which can have a knock-on effect for all successive answers. Encourage your child to check that the question number of the grid matches the question they are answering before they make each mark. They should also take extra care if they decide to miss out a question to return to later.
- Not pressing hard enough. If a mark is too light. it may not be recognised by the computer and the question could be marked wrong. Remind your child that each answer needs to be marked clearly. We would suggest practising with soft HR pencils as they tend to make the clearest marks If your child has to provide their own pencils for the actual test, make sure they take one or two HB pencils with them.

Marking and feedback

The answers that follow should be given one mark unless otherwise indicated. Do not take marks away for wrong answers, but do not award half marks. You will end up with a score out of 50. Double the score to get a percentage out of 100. 43/50 exceeds the target score of 85% (see 'The secrets of 11+ success in maths' booklet).

After marking, follow these steps:

- Go over any incorrect answers. Always go over incorrect answers so that your child can see what went wrong. To help with this process, each answer in these test papers is explained and also has an individual tutorial reference icon: This icon links to the relevant section in How To Do 11+ Maths so your child can read more about the related topic and complete more practice questions if needed.
- Use the Next Steps Planner inside the back cover. This will provide a plan for what to do next when a test has been marked.

Test	1		
Question	Answer		
1	C	457.9 ÷ 1000 = 0.4579. Every digit moves three positions to the right.	B1
2	В	285.9 is rounded up to 290.	B1
3	С	The angles inside a triangle add up to 180°. Therefore 56° + 23° = 79° 180° - 79° = 101°	B18
4	С	25 000 - 18 789 = 6211	B2
5	E	The letter H also has two lines of symmetry.	B24
6	С	6 represents 6 hundred thousand. 8 represents millions, 6 represents hundred thousands, 9 represents ten thousands, 7 represents thousands, 5 represents hundreds, 4 represents tens and 1 represents units.	B1
7	C	The numbers 42 (7 \times 6), 60 (10 \times 6) and 90 (15 \times 6) are all in the 6 times table.	A3/B3
8	C	Aimee's dad's birthday is on a Wednesday (2 nd April). In a leap year, February has 29 days.	B4
9	В	$t = 2(4 \times 9) + 8$ $= 2 \times 36 + 8$ $= 72 + 8$ $t = 80$	B8
10	E	The triangular prism is the odd one out because it is the only shape with parallel lines.	B21
11-12	E	The largest area is 15 cm × 14 cm = 210 cm ²	B20
	В	The shortest perimeter is 17 cm + 17 cm + 9 cm + 9 cm = 52 cm	B20
13	E	1 litre = $1\frac{3}{4}$ pints $4 \times 1\frac{3}{4}$ pints = 7 pints	B25
14	С	(-6) (-5) (-4) (-3) (-2) 24 18 13 9 6 4	B7
15	D	This is the net of a cylinder.	B21
16	E	Volume = length \times width \times height 6 cm \times 6 cm \times 216 cm ³	B22
17	С	$3 = \frac{300}{100} + 0.7 = \frac{70}{100} + 0.09 = \frac{9}{100} = \frac{379}{100}$	B11
18	E	A prime number only has two factors: 1 and itself (so 1 is not a prime number).	B6
19	Е	The mode is the value that occurs most frequently in a set of data. The mode is size 9 as it appears 6 times.	B15
20-21	E	Ice-cream seller	B23
	В	Ice-cream Seller Pond Swings Slide Bandstand X	B23

Question	Answer		
22	C	The radius is a straight time to the side in the straight to the autoide adds	10
23	С	The radius is a straight line from the middle of a circle to the outside edge. Reverse the problem.	B17
24	D	$59 + 13 = 72,72 \div 6 = 12$	84
	4	Range = highest value - lowest value = 136 - 132 = 4	B15
25-26	D	1116 apples ÷ 12 apples per bag = 93 bags	B3
	E	Assuming that all the bags are sold as part of the 'buy 2 get 1 free' offer, the customer is paying £6 per 3 bags. 93 bags \div 3 = 31 31 \times £6 = £180	B4
27	С	1 tonne = 1000 kilograms so 6.25 tonnes = 6250 kilograms 6250 kilograms ÷ 500 kilograms = 12.5, which means the truck had to be loaded 13 times.	B3
28	E	2.86 m = 286 cm + 13 girls = 22 cm each	100
29	D	50 divided by 125 = 0.4 (or $\frac{4}{10}$ or $\frac{2}{5}$) 50 pencils = $\frac{2}{5}$ (amount given out by Nazar) 75 pencils are left in the box = $\frac{3}{5}$	B3
30	С	23 + 0.5 = 23.5	-
31	A	$-11^{\circ}\text{C} + 5^{\circ}\text{C} = -6^{\circ}\text{C}$	B11
32	В	$4^2 + 6^2 = 52$ 16 + ? = 52 $16 + 36 = 52$ $\sqrt{36} = 6$	B6
	D	Shape D is the only shape that has one angle larger than 90°.	B17
34	В	$ \frac{1}{6} \div 3 \\ = \frac{1}{6} \div \frac{3}{1} \\ = \frac{1}{6} \times \frac{1}{3} \\ = \frac{1 \times 1}{6 \times 3} \\ = \frac{1}{18} $	B10
35	В		B21
36	A	5.5 + 7.28 + 12.1 + 4.95 = 29.83 miles	Do
37	С	$72 \div 5 = 14.4 = 14\frac{4}{10} \text{ or } 14\frac{2}{5}$	B2
38-40	С	Thursday is 0.8 mm from 2.3 mm and so closest to average.	B3/B10 B14
	Ε	If average rainfall in April is 2.3 mm per day: 2.3 × 7 = 16.1 mm Total in this week = 21.0 mm Thus rainfall is 'above average'	B14
	D	21 mm divided by 7 days = 3.0 mm 4 days had more than 3.0 mm	B15
41	D	$6.3 \div 3 = 2.1$	B11
42	A	There are 33 children in the class but Hussain can't answer the question himself so the fraction will be from $\frac{1}{8}$ of $32 = 32 \div 8 = 4$ So $\frac{1}{8} = 4$ $\frac{5}{8} = (5 \times 4)$	B10
		5 = 20	

Question	Answer		
43-45	С	The pie chart shows $\frac{1}{4}$ of the newspapers are <i>Times</i> deliveries. $\frac{1}{4}$ of 120 is 30 newspapers.	B14
	A	The pie chart shows that the <i>Mail</i> and <i>Mirror</i> deliveries make up $\frac{1}{4}$ of the deliveries, which equals 30 newspapers. However the <i>Mirror</i> is $\frac{1}{3}$ of the 30 newspapers (the <i>Mail</i> deliveries are double that of the <i>Mirror</i>), therefore only 10 <i>Mirror</i> newspapers are delivered.	B14
	D	20 customers read the <i>Mail</i> . $\frac{20}{120} = \frac{2}{12} = \frac{1}{6}$	B14
46	В	$£368 \times 18 = £6624$	B3
47–48	D	2400 = 100% 1200 = 50% 600 = 25%	B12
	D	12.5% is the answer, as half of the 25% chose swimming.	B12
49	В	The time totalled 112 + 23 + 125 + 5 = 265 minutes. 5 hours = 300 minutes 300 minutes - 265 minutes = 35 minutes	B27
50	С	If the opposition had scored 12 goals, the fan had to take off $12 \times \frac{1}{2}$ miles = 6 miles from the total number of goals scored. Therefore Manchester United must have scored $8 + 6 = 14$ goals.	B4
Test 2	2		
1	В	A factor is a whole number that divides exactly into another number. 8, 6 and 4 all divide exactly into 48.	B5
2	С		B19
3	В	3453.0 because out of the two numbers that include thousands, it is larger than D by 2.7.	B11
4	А	The weight closest to the average car is 2 tonnes. 1 tonne = 1000 kg B, C and D are far too light, E is far too heavy.	B25
5	D	2°C - 11°C = -9°C -10°C -9°C -8°C -7°C -6°C -5°C -4°C -3°C -2°C -1°C 0°C 1°C 2°C 3°C	B6
6	E	10 adults take 4 children each = 40 children 52 children still need transport i.e. 52 divided by 4 = 13	B3
7–8	A	The diameter is a straight line through the centre point of a circle, from one side to the other.	B17
	С	The circumference is the total distance around the edge of a circle.	B17
9	В	56.89 + 21. 3 7 78.26	B11
10	D	53 is the only prime number between 48 and 58. 47 is a prime number but the clue states that the number is 'larger than' 47.	B6
11	В	$34 \times 16 = 544$	B3
12	В	These are the fractions written as equivalent fractions. It makes it easier to compare the fractions. $\frac{1}{10}$ $\frac{1}{4}$ $\frac{6}{20}$ $\frac{2}{5}$ $\frac{5}{10}$	B10
		2 5 6 8 10 20 20 20 20 20	
13	C	£24.38 is rounded down to £24.00.	B1
14	D	21 22 23 24 25 26 27 28 29	B15

Question	Answer		TO
15	D	$\frac{4}{4} = 1$	B11
		$+\frac{3}{4} = 0.75$	BII
		$\frac{7}{4} = 1.75$	
16-17	A	$\mathfrak{L}1.36 + \mathfrak{L}1.48 + \mathfrak{L}3.65 + \mathfrak{L}0.58 = \mathfrak{L}7.07$	B2
	E	£7.07 + £2.45 = £9.52 (cost of shopping and magazine) £10.00 - £9.52 = £0.48 (change from £10.00)	B2
18	D	The square root of 64 is 8 because $8 \times 8 = 64$	B6
19	В	(+15) (+15) (+15) -69 -54 -39 -24 -9	B7
20	А	$35.5 \mathrm{g} \times 100 = 3550 \mathrm{g}$	B1
21	A	The arch lines in this shape are parallel, as they are an equal distance apart and will never meet if continued on.	B17
22-24	С	Tara and Tim read 14 books. Amy read $\frac{3}{7}$ this amount. $\frac{1}{7}$ of 14 = 2 books so $\frac{3}{7}$ = 6 books.	B10/B14
	В	The total of books read by Green group is found by adding all the individual totals of the group together (including Amy's): $10 + 12 + 4 + 16 + 6 = 48$ books. The average is found by dividing 48 books by 5 children = 9.6 books.	B14/B15
	A	In Term 1, the group had read 48 books. An increase to 58 books meant that someone had read 10 more books than in the previous term, therefore Tara must have doubled the 10 books she read in Term 1 to 20 books in Term 2.	B14
25	E	This is the net of a closed cube (B is the net of an open cube).	B21
26	В	6h × 60 min = 360 min 5 min + 20 min + 360 min = 385 min	B27
27	D	$-7^{\circ}\text{C} - 8^{\circ}\text{C} = -15^{\circ}\text{C}$	B6
28	E	$4(3 \times 6) = 4 \times 18$ = 72	B3
29	A	$15 \times \frac{3}{4} = 11\frac{1}{4}$	B10
30-31	С	2.8 litres = 2800 millilitres 2800 millilitres ÷ 20 millilitres = 140 drinks	B22
	В	140 drinks × 15p = 2100p or £21.00	B3
32	В	Mean = the sum of items divided by the number of items 23 + 21 + 25 + 28 + 31 + 28 + 26 = 182 182 ÷ 7 days = 26°C	B15
33	E	$\begin{array}{llllllllllllllllllllllllllllllllllll$	B22
34	С	2848 divided by 32 = 89; so 2848 divided by 89 = 32	В3
35	E	Helen has to wait 10 months out of 12 months ($\frac{10}{12}$). $\frac{5}{6}$ is an equivalent fraction of $\frac{10}{12}$	B10
36	А	1 isn't a prime number as it has only one factor, 1. Prime numbers have two factors, 1 and the number itself.	B6
37-38	D	Perimeter = the total distance around the playground 42m + 25m + 11m + 12m + (42m - 11m) + 13m = 134m	B20
	A	The area of the original playground is 403 m². The area of the new playground is 275 m². So the difference between the two is 128 m².	B20
39	В	100% = 16 games 50% = 8 games 25% = 4 games 50% + 25% = 75% 8 games + 4 games = 12 games	B12

Question	Answer		
40	D	For every 7 children, 2 are brown-eyed. There are 4×7 children in 28 children, so $2 \times 4 = 8$ 8 children are brown-eyed, 20 are blue-eyed.	B13
41-42	D	Congruent shapes are identical to each other but are positioned in different directions. Shape F is congruent to Shape D.	
	В	7 6 B 5 4 3 2 1 0 0 1 2 3 4 5 6 7 8 9 x	B23
43	В	2.3 kg = 2300 g 110 guests × 15 g = 1650 g 2300 g - 1650 g = 650 g	B25
44-46	С	19 children were silent for 21–30 minutes.	B14
	E	3 children (1–10 minutes) + 9 children (11–20 minutes) + 19 children (21–30 minutes) = 31 children	B14
	D	16 children (31–40 minutes) $+$ 11 children (41–50 minutes) $=$ 27 children who were silent for more than 30 minutes. 27 children \times £3.50 $=$ £94.50	B14
47	С	£9.72 is 90% of original price 1%: £9.72 ÷ 90 = £0.108 100%: £0.108 × 100 = £10.80	B12
48	D	1 oz ≈ 30 g so 5 oz ≈ 150 g	B25
49	С	Median = middle value of the data After these times are laid out in order 11.7 s is the time that is found in the middle of the data.	B15
50	D	The angles around a point add up to 360°. Therefore 83° + 2° = 360° 83° + 277° = 360°	B17
Test :	3		lou.
1	D	2.2 2.21 2.22 2.23 2.24 2.25 2.26 2.27 2.28 2.29 2.3	B11
2	В	Square numbers = 1, 4, 9 (3 rd), 16, 25, 36 (6 th)	
3	D		B24
4	С	$(2b) + a = c (2 \times 12) + 7 = c 24 + 7 = 31$	B8
5	A	A decade = 10 years If the first year is a leap year, there are 3 leap years in the decade. (3 × 366 days) + (7 × 365 days) = 3653 days	B4
6	D	5 × 35 = 175 4 × 38 = 152 2 × 42 = 84 1 × 25 = 25 Total = 436 children	83
7	В	The left side equals 3 oz, the right side equals 80 g + ? 3 oz \approx 90 g therefore the missing weight is 10 g.	B25

Question number	Answer		0
	TE	Mark and delle value of the data	B15
8	E	Median = middle value of the data. After these weights are put in order 29 g and 31 g are found in the middle of the data; the middle value is halfway between these weights, therefore 30 g is the median.	
9	D	Sequence = 1, 7, 8, 15, 23, 38	B7
10-11	В	This line is the mirror line for the two shapes as they are a direct reflection of each other.	B23
	A	Coordinate of point S is (-6, 1).	B23
12	С	a = 18 a + b = 4b - b $a + 9 = 4 \times 9 - 9$ a + 9 = 36 - 9 a + 9 = 27 18 + 9 = 27	B8
13	D	The factors of 36 are 1, 2, 3, 4, 6, 9, 12, 18 and 36	B5
14	С	2:7 is same as ratio 1:3.5 Therefore there are 3.5 times more dogs i.e. 18 cats × 3.5 = 63 dogs	B13
15	D	89 952 is rounded up to 90 000.	B1
16	D	The parallelogram is the odd one out as it is the only shape without perpendicular lines.	B19
17	A	Original price = £35.00, sale price = £35.00 $-$ 20% 20% of 35 = $\frac{20}{100} \times 35 = 7$ Jeremy paid £35.00 $-$ £7.00 = £28.00	B12
18	D	8 kilometres ≈ 5 miles so 88 kilometres ≈ 55 miles	B25
19	В	Shape B is the correct answer because it is the only shape that has moved 180° about the vertex highlighted.	B23
20	С	345 ÷ 23 = 15 345 ÷ 15 = 23	B3
21	В	$\frac{13}{10}$ is the same as $\frac{10}{10} + \frac{3}{10} = 1.0 + 0.3 = 1.3$	B11
22	С	The angles on a straight line add up to 180° . Therefore $93^\circ + 69^\circ = 162^\circ$ $180^\circ - 162^\circ = 18^\circ$	B17
23	D	length × width × height = volume 6 cm × 3 cm × 4 cm = 72 cm ³	B22
24	A	Total = 123 minutes + 105 seconds = 2 hours 3 minutes + 1 minute 45 seconds = 2 hours, 4 minutes + 45 seconds	B27
5	D	The digit 8 represents the hundredths in the number.	B1

	Answer		and the same
Chimper Chimper	E	Perimeter = the total distance around the shape.	
26-27	-	13cm + 32cm + 12cm + 20cm + 12cm	B20
	В	One way of finding the area of this shape is to cut it into rectangles. The area of each rectangle then needs to be found and the totals added together, e.g. 15 cm × 30 cm = 450 cm² 17 cm × 15 cm = 255 cm² Total = 1227 cm²	B20
28	E	12569 ÷ 1000 = 12.569 ½ of 12.569 = 6.2845	B1/B11
29	В	Mode = value that occurs most frequently The number 3 is thrown 9 times.	B15
30	С	A prime number is a whole number that only has two factors, 1 and itself.	B6
31-32	С	Mersham to Tugwest to Danrek to Jutsford 4.3 + 10.9 + 3.67 = 18.87 miles	B25
	В	17.23 - 8.91 = 8.32	B25
33	A		B21
34	С	1000 millilitres = 1 litre so 200 millilitres = 0.2 litres	B25
35	D	Reverse the problem. 50 ÷ 2 = 25, 25 - 17 = 8, 8 × 4 = 32	B4
36–38	С	Range = highest value - lowest value = 45 - 25 = 20	B15/B14
	D	On Thursday 30 out of 90 children had packed lunch. This is $\frac{1}{3}$ of the school therefore $\frac{2}{3}$ must have had a different kind of lunch.	B14/B10
	В	To find the average, add the total number of packed lunches eaten over the week: 25 + 33 + 45 + 30 + 42 = 175 packed lunches Then divide by the number of days: 175 lunches ÷ 5 days = an average of 35 packed lunches are eaten each day.	B14/B3
39	В	$ \frac{1}{6} $ $ \frac{1}{3} \times \frac{1}{2} $ $ = \frac{1}{3} \times \frac{1}{2} $ $ = \frac{1}{3} \times \frac{1}{2} $	B10
40	Λ	-9 is the lowest number and 9 the highest, therefore the difference is 18.	B6
40	E	4589 ÷ 100 = 45.89 This means that, without dividing any tins or packets, the families each received 45 items.	B3/B4
42	D	This means that, without divising a $\frac{3}{25} \times \frac{12}{100}$	B10
43	E	4 weeks = 28 days 127 sandwiches per day × 28 days = 3556 sandwiches	B3/B4
		127 Saluwinos ps.	B19
44	В		Bio
44	В		B3
44 45–46	В	23 × £1.25 = £28.75	

Quantian	Answer		
Question number 47–49	D	The graph shows that at 40 minutes Kyle had travelled approximately 18 miles, therefore < 20 miles is the	B14
	В	Correct answer. The graph shows two occasions when time passed but the car moved no distance, once at 29–30 minutes	B14
		and the other time at 40–43 minutes. The graph shows that Kyle travelled approximately 7 miles during this period of time.	B14
	С	The time 21 hours 49 minutes needs to be divided into 7 equal parts.	B10
50	D		
		= 3 hours 7 minutes = 6 hours 14 minutes	
		7 - Official 14 minutes	
Test 4		1000 7001000	B6
1	E	$-12^{\circ}\text{C} - 7^{\circ}\text{C} = -19^{\circ}\text{C}$	B1
2	С	A perpendicular line is a line drawn at 90°. The two lines that meet at the bottom of the heart shape are	B17
3	D	perpendicular.	
4	С	1000 grams = 1 kilogram so 350 grams = 0.35 kilograms	B25
5	D	These are the fractions written as equivalent fractions. It makes it easier to compare the fractions.	B8
3		These are the fractions written as equivalent fractions. It makes it easier to compare the matter $\frac{6}{3}$ $\frac{7}{6}$ $\frac{5}{6}$ $\frac{2}{3}$ $\frac{1}{2}$ $\frac{12}{6}$ (or 2) $\frac{7}{6}$ (or 1 $\frac{1}{6}$) $\frac{5}{6}$ $\frac{4}{6}$ $\frac{3}{6}$	
6	A	£282 000 ÷ 12 people = £23 500	B3
7-9	C	12 (1 lamb) + 15 (2 lambs) + 7 (3 lambs) + 1 (4 lambs) = 35 ewes	B14
	E	15 ewes gave birth to twins, 7 ewes gave birth to triplets. So 15 ewes - 7 ewes = 8 more ewes gave birth to twins.	B14
	D	Number of ewes × Number of lambs 12 × 1 = 12 15 × 2 = 30 7 × 3 = 21 1 × 4 = 4 12 + 30 + 21 + 4 = 67 lambs	B14
10	С	34 - 15 = 19 19 is a prime number because it has only two factors (1 and 19).	B6
11-12	D	$12 \times 0.43 = £5.16$ £5.16 ÷ 2 = £2.58 (2 nd pack ½ price) Total = £7.74	B4
	A	The third pack of 12 tins would be the original price so,	B4
13	С	$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	B23

	Answer		
Question	В	The order of rotational symmetry is how many times a shape fits into its outline during one full turn. An	
14		oblong has a rotational symmetry of 2.	B23
15	E	Volume = length × width × height 10 cm × 4 cm × 4 cm = 160 cm ³	B22
16	В	Mean = the sum of items divided by the number of items $12 + 18 + 16 + 15 + 17 + 13 + 21 = 112$ 112 (total number of eggs) \div 7 (days) = 16 (mean)	B15
17	А	$\frac{3}{5} \times 6 \rightarrow \frac{18}{30}$	B10
18	В	378.4 miles – 198.7 miles = 179.7 miles	B2
19	С	$3^3 = 3 \times 3 \times 3 = 27$	B6
20	D	Both 84 and 98 are in the 7 times table, therefore they are both multiples of 7.	B5
21	D	a day = 24 hours (× 60 minutes) = 1440 minutes (× 60 seconds) = 86 400 seconds	84
	D	The perimeter is 34 cm which is the shortest.	B20
22	C	A = 280, B = 180, C = 420, D = 412.5, E = 160, therefore C is the answer.	B10/B12
23	C	Range = highest value - lowest value	B15
24		= 56 - 27 = 29	3.0
25	C	$\frac{4}{100}$ is the same as 0.04	B11
26	В	11.9 seconds is the quickest time.	B11
27	В	$5.21 \times 1000 = 5210$. Every digit moves three positions to the left.	B1
28	В	278 miles × 54 petrol refills = 15 012 miles	B4
29	D	7 16	B10
		$ \frac{1}{8} + \frac{1}{16} + \frac{1}{4} $ $ = \frac{2}{16} + \frac{1}{16} + \frac{4}{16} $ $ = \frac{7}{16} $	
30	E	Area of a right-angled triangle = $\frac{1}{2}$ area of the surrounding rectangle Area of rectangle = 15 cm × 5 cm = 75 cm ² $\frac{1}{2}$ of 75 cm ² = 37.5 cm ²	B18
31-32	A	£180	В3
	В	£4680 ÷ 26 = £180 £520 26 × £160 = £4160 £4680 - £4160 = £520	B4
33	D	0.39 × 100% = 39%	B12
34	C	The state of a priem	B21
35	В	Shape B is the correct answer because it is the only place where the shaded shape that has rotated 90° clockwise about the vertex marked with the dot. Shape C is a 90° anticlockwise about the same vertex.	B23

Question number	Answer		
36	С	Reverse the problem. 70 + 11 = 81, the square root of 81 is 9 , $9 - 6 = 3$	B4
37	D	34.644 g rounded to the nearest tenth is 34.6 g	B1
38	A	The angles around a point add up to 360°. Opposite angles when straight lines cross are the same. Therefore 122° + 122° = 244° 360° - 244° = 116° 116° ÷ 2 = 58°	B17
39	В	The common factor is 3 therefore 9: 24 can be written 3: 8.	B13
40	D	8.09 + 15.68 = 23.77	B11
41	В	The new shape made is a rectangle. A rectangle has 2 lines of symmetry.	B24
42	E	Sequence = -8, 0, 8, 16, 24, 32	B7
43-44	С	Of the areas given, only oblongs with an area of 84 cm², 75 cm² or 36 cm² can have a perimeter of 40 cm, 6 cm 84 cm² 5 cm 75 cm² 2 cm 36 cm² 14 cm 15 cm 18 cm	B20
	D	If the length is 13 cm, the width will be 7 cm, giving an area of 91 cm ² .	
45	С	$ \begin{array}{r} 12d = 33 + d \\ 12 \times 3 = 33 + 3 \end{array} $	B8
46	Ä	1.8 gallons + 1.2 gallons = 3 gallons 1 gallon = 8 pints so 3 gallons = 24 pints	B25
47–49	А	There are 118 birds of other types (3 + 47 + 10 + 15 + 43 = 118). 150 birds were surveyed. 150 birds - 118 birds = 32 birds	B14
	В	150 birds = 100% therefore 15 birds = 10%	B12
	С	50% of 150 birds = 75 birds The total of the sparrows (32 birds) and the robins (43 birds) equals 75 birds.	B14/B12
50	С	$y^2 < 6z - 8$ $y^2 < 6 \times 6 - 8$ $y^2 < 28$ $5^2 < 28$ 25 < 28 Each of the other values gives an answer greater than 28 when squared so $y = 5$	B8